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Question Numbers : (1 to 20)

1. Data Sufficiency Ggro% DUNS

Note:

In questions numbered 1 to 20, a question is followed by data in the form of two statements
labelled as T and II. You have to decide whether the data given in the statement is sufficient to
answer the questions. Using the data make an appropriate choice from (1) to (4) as per the
following guidelines:

a) Mark choice (1) if the statement I alone 1s sufficient to answer the question.

b) Mark choice (2) if the statement II alone is sufficient to answer the question.

¢) Mark choice (3) if the statements I and II together are sufficient to answer the question but
neither statement alone is sufficient.

d) Mark choice (4) if both the statements I and II together are not sufficient to answer the
question and additional data 1s required.



AT

1 2004 20 H6H DD 0B LIS .8 DI, TS |, 11 © D Ko Tokd PSBTL BroBorT
QDY GTOD. D BFrogo &DGIFAon), AW PIBT D PB) D DAFTT) W oL Do
eHarair Joc @ Do .‘\'}gnﬁoa‘a. 6 AP 6L €08 ArgHs,E Argren &darhon) (1) od (4) D60

20 900D 2are) A donE dabod.

a) £¥)H VITT Do VB0t PHSB0 | Sr@Hd HDoHDS D aTre (1) ™ tHoSod.

b) )& VATTHo WSyt PHBBo 1] SR HoAHDS D BT (2) M HoSed.

) ©3)H JITCrdo RPN ST I, 11 D DorgRo0y 00’ O &nges 20008 HovgHo
SEJS o 207w (3) ° HBoded.

d) £3)H JrETI0 VoL PISTEw |, Il EBD Lrae DUR0 5°8 G Ggrodo wHI00

00 o 2avew (4) ™ H8odod.

Sub questions

Question Number : 1 Question Id : 5494705066 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



What is the length of the train A?
g A cIng). TEQ dodd ?

L A passes a pole mn 10 sec.
A 208 Qoerly 10 D806 Tren.

IT. : 1 .
A crosses a man standing on a platform in r th of a minute.

|
2,8 J7¢5 D0 P Jewyd) 28 58I A DD & . 5 Hodhy DAOI0LS” LA,

Options :
1. %1
2. %2
3.% 3
4.9 4

Question Number : 2 Question Id : 5494705067 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Whatisa:b:c?
a:b:cooeh?

L a’ +4b* = 4ab

L. a’ +5b% +4c¢” = 4h(a+c)



Options :
1. %1

2.4
3.%3
4. % 4

Question Number : 3 Question Id : 5494705068 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Is x a prime number?

X 08 PRI Faaa:.-é e9 B0 ?

L. x leaves remainder 2 when divided by 4.
XA 4D oHR DTN Fo 2.

II. x leaves remainder 3 when divided by 5.
A5 A3 erhd T 2o 3.

Options :
1. %1
2.% 2
3.%3
4.9 4

Question Number : 4 Question Id : 5494705069 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Who 1s more efficient among two persons A and B?
RO S A, B © & 23 80D Rd2ogoen ?

L A and B together can complete a job in 10 days.
A 208050 B 86> 85 28 HID 10 Sared’ Q1rd Sadrud.

II. A alone can complete the job in 15 days.
A 2,8) G & DA 15 Serers” rd Sabred.

Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 5 Question Id : 5494705070 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



If x.y.zeR and = # 0, then, what is the value of T—l“’

o
x.v.zeR H08cdwz#0 BI0RAIN D, z% oE), Qe dodh?

E 2t g

Options :
1. %1
2.92
3.%3
4. % 4

Question Number : 6 Question Id : 5494705071 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



15 men can plough a field of 36 acres in 6 days. What is the area that can be ploughed
by 25 men?
36 ST 28 TTI) 15 od PdRen 6 Ty )AL, 25 Hod DD

G0 v Edho PTVfo o ?

[ 25 men work for 12 days
25 2008 PP 12 Taren DI BIW.

II. Each man works for 8 hours in a day.
28 2020 Fardd 8 foten D BFco.

Options :
1.v1
2. %2
3.% 3
4. % 4

Question Number : 7 Question Id : 5494705072 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



What is the smallest number that should be subtracted from N to make it perfect
square?
RoIPG B0 =HEAS N od HIDOLIVBD £IR Vo] Jots?

[ 4000 <N < 5000

II. N=4628

Options :
1. %1

2.4
3.%3
4. % 4

Question Number : 8 Question Id : 5494705073 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

What are the co-ordinates of the point P?
Dot P o30S); DEFHET 07

I. P lies on the line which makes an angle of 45° with the x — axis.
X- ®go & 45°Em0 B2 wE 82 D P &otwod.

II.  The line passes through origin.
g3 B2 SOty ol Jdood.



Options :
1. %1

2. %2
3.%3
4.9 4

Question Number : 9 Question Id : 5494705074 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

What i1s the area of the circle?
Y DT V(0BT

[.  The circle passes through 4 vertices of a square.
&8 D)o 28 WAL V), Terd FT°0 ot J'ehod .

II.  The circle is mscribed in a square of side 10 cm.
2020 TED) 10 Bo. & T (L) 208 BAGS” &2 Do odBBNSBAD.

Options :
1. %1
2.92
3.%3
4. % 4

Question Number : 10 Question Id : 5494705075 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Among the real numbers a and b, 1s a greater than 57
TRD Vo(@R a, b o & b 81y a Deee?

L 3

Options :
1. % 1
2. %2
3.% 3
4.v 4

Question Number : 11 Question Id : 5494705076 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Is the integer ‘a’ even?
A D6 ‘t’.gjvg“os;ﬁ??
I.  8aisan even integer.

8a 25 ®0 i,?j"g“-::s!:‘-o.

II. 9aisan odd integer.
90 8 &0 rTroso.

Options :
1. %1



2.2
3. %3
4. % 4

Question Number : 12 Question Id : 5494705077 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

What is the slope of the straight line?

ROY B2 Tre dogh 7

I.  The straight line passes through the origin and the point (3.2)
e DOV B Awre Doddd) Adain Dodod) (3, 2) Moz T'dood.

II.  The straight line passes through (—3. -2).
83 6 8 (-3,-2) ot T'ehod.

Options :
1.¥ 1
2.% 2
3.%3
4. % 4

Question Number : 13 Question Id : 5494705078 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



How many items are sold in the shop?
cosTRe & DY) DR BT 6T

I. A shop keeper sells each of the items at Rs. 50/-.
COSTRLTE DA WS DROPAT G50/ - £ i) .

IT.  The shop keeper gets a profit of Rs.1000/- for his investment of Rs.4000/-.

QAOSTERTHS) B ZJ%DJJE.J&, ¢o°.4000/- € &5°.1000/ - ergo ;ﬁt‘:)‘)o&:.

Options :
1. %1
2. %2
3.¥3
4. % 4

Question Number : 14 Question Id : 5494705079 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Isx=07
x = 0 eoHedoos?

L The arithmetic mean of x, v, z, 115 6.
X, ¥, 5 I & ©os206 000 6.

II.  The arithmetic mean of y, z, 71s 8.
¥V, I I © 09050600 8.

Options :
1. %1



2. % )
3.9 3
4. % 4

Question Number : 15 Question Id : 5494705080 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Is the positive integer n divisible by 7207
AR ‘S,')_j"’g'aﬁc n, 720 @ erHotiercdddo ?

. nis divisible by 48 and 15.
48 2H08ain 15 & 11 erhodieacoddood.

IL  w=b(b+1)(b+2(b+3)(b+4)(b+5)for some positive integer b.
28 & rgreso b & n=Db(D+1)(0+2(b+3)(Db+4)b+5)

Options :
1. % 1
2.9°2
3.%3
4. % 4

Question Number : 16 Question Id : 5494705081 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



What 1s the total depreciation in the cost of the house at the end of 4 years?
4 VoIS TV STS Pod Dend & Ando SAMEBL Jod?

I.  Rate of depreciation of the house is 10% per annum.
Fot) DD BEOMEL Bew VoS T"IE 10%.

II.  Area of the house 1s 1000 sq.m.
08} D050 1000 3. . en.
Options :
1% 1
2. %2

3. %3
4. ¥ 4

Question Number : 17 Question Id : 5494705082 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

What are the three numbers in geometric progression?
o 38e5° G &9 2P Vo DD?
I.  Product of numbers = 1000

e :a::-a,:nge.: wee = 1000
o
II.  The three numbers are even.
€3 SATGRD ;}Dalém Eale) 'F:JOQJ_SEJJ.

Options :
1. %1



2. %2
3. %3
4.¥ 4

Question Number : 18 Question Id : 5494705083 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

What 1s the remainder obtained when » 1s divided by 10?
1 85 10 56 AoV IBy Fo Do ?

L n=6"_ Iis an integer = 1.

n=65, kg S Do) = 1.

II. % 1is areal number.

K 28 TP Doy

Options :
1.¥ 1
2.% 2
3.%3
4. % 4

Question Number : 19 Question Id : 5494705084 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



What is the number of divisors of 1?

1 A0S TREW ‘.-‘aca:ué doeh ?

L n=p’g": p.qare distinct primes.

n= p5r34: P-q 20 DD DT 057,

II.  nis divisible by only two distinct primes.
1 R0 Botd DDJY DED Vo0 HT G 2RO,

Options :
1.v1
2. %2
3.% 3
4. % 4

Question Number : 20 Question Id : 5494705085 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

What 1s the radius of the circle?
ol :.!“55"6.:: Jodd ?
o o

L Circumference of the circle is gn units and the area of the circle 1s hn sq.units.
DS DBG am cRrALL D080 JyP DTV e bt . ciardew.

II. a=>

Options :
1. %1
2. %2



3.¢3
4. % 4

Question Id : 5494705086 Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (21 to 25)

2. Problem Solving DIy DB Co
A: Sequences and Series e dren 8ok Fevew
i) Analogies JrarOehen
Note:

In each of the following questions (from 21 to 25), a sequence of numbers or letters that follow a
definite pattern is given. Each question has a blank space. This has to be filled by the correct
answer from the four given options to complete the sequence without breaking the pattern.

AT
S0 2D DD £3) (21 Wod 25 H6H) S'dr VYD Do ™ VLT MR w8 gdongDod
Dobard) FSporyon. P8 03 SR rdd DN Tl DIySL od D8 BAND BTV

D) £ 052 DabdrdS Fotlo Senritrom r8oad.

Sub questions

Question Number : 21 Question Id : 5494705087 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



DRUM : IWZR :: : GONSI

Options :

BLIND
1. ¢

BLINK
2. %

BRAVE
3. %

BRAKE
4, %

Question Number : 22 Question Id : 5494705088 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

ARC : DOF :: ALI:
Options :

DOL

DIF



DOF

DIL
4. &

Question Number : 23 Question Id : 5494705089 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Tiger : Goat :: . Herbivore
Options :

Carnivore

1. ¢

Omivore
2. %

Parasite
3 %

Insectivore
4, ®

Question Number : 24 Question Id : 5494705090 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



| N |

T3

Options :

L
1. %

N
2.

M
3. %

O
4, %

Question Number : 25 Question Id : 5494705091 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

A 2744
Options :
13
1. %
15



14
3. ¢

16

4. %

Question Number : 26 Question Id : 5494705092 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Sequences and Series : Odd thing out
A Eren S80I Feae : H8JAA Do)

Pick up the odd thing out in the following options and mark its number as yvour answer
for the question:

Sods QD m:ﬁasﬂmfi‘ ROFOE tHBow), es Do & HF) D DA Do JPOD0G.

Options :

30
1.v

60
2. %

90



150

Question Number : 27 Question Id : 5494705093 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Sequences and Series : Odd thing out
2D EaIren doin Fewew : HOTOIA o

Pick up the odd thing out in the following options and mark its number as your answer
for the question:

o0& AR m:‘:}asvmsa DOPOIA HBow), e RoP5R & P D JDArGDorT TP0D0G.

Options :
PELICAN
0=
1. ®
PENGUIN
- boﬁ&%
SEAGULL
0565



HUMMING BIRD

:gug_‘%gﬁ mg
4. &

Question Number : 28 Question Id : 5494705094 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Sequences and Series : Odd thing out
A Esren S80I Feew : DTS tHBocéy

Pick up the odd thing out in the following options and mark its munber as vour answer
for the question:

oS QD mé}asﬂués P8I thBox), e Do & HF) B dATEEHoT JroDG.

Options :
710
1.¥
120
2. ®
24



Question Number : 29 Question Id : 5494705095 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Sequences and Series : Odd thing out
e EaaIren Sudoin Feaew : DTG HBoce)

Pick up the odd thing out in the following options and mark its number as your answer
for the question:

o R D) asweS‘ 20X0NA tHfow), es Do & PI) B DArEEdomT JPoDoG.

Options :
2 7
X +y +xy
1. %
3 2
.1‘3 ¥ EXY
2. %
x 2
X Y =X

3.¢



X ¥V =X ¥

Question Number : 30 Question Id : 5494705096 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Sequences and Series : Odd thing out
erdnEaren S8ain Frwew 1 VOB HBoé

Pick up the odd thing out in the following options and mark its number as your answer
for the question:

€00 QNS De) asmeﬁ‘ DB O (Do), &3 Vo & P L VATV JraDod.

Options :
1427
1. %
97
2. ®
1649
3.¢
67



Question Number : 31 Question Id : 5494705097 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Sequences and Series : Missing Numbers/Terms
eESren B0 Fravew : JoDAEY) D8I Hrren

Note: The following question follows a definite pattern. Observe the same and fill in
the blank with suitable answer.

ATSD: §08 RAND PI) wE PVNSDD JoDATA) TS, & oDHT) HaDox)
2BOHHD DATFCH0S a9 HrBocsod .

(3.4.5) .(5.12.13) .(6.8.10) .(7.24.25) . (17,144 . 145),
(48 .55, 73)

Options :

(20.27.28)

(20,99 .101)

(20 .25 .29)



(20 . 30 . 40)

Question Number : 32 Question Id : 5494705098 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Sequences and Series : Missing Numbers/Terms
edESrren 8ot Fraven 1 AoHATY) VBT Horen

Note: The following question follows a definite pattern. Observe the same and fill in
the blank with suitable answer.

ArSR: §o8 AND PI) w8 PANSD JoHATEY) P8, & DB HadDox)

280D DATTTHS PR Hrdocsod .

(00)[%#}(%6]( ._@]_(231:__,5}

Options :

-5

o | 2

1. ¢



. G
4. % [%ﬂ _T;]

Question Number : 33 Question Id : 5494705099 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Sequences and Series : Missing Numbers/Terms
@ESrren 8o Fewen : JaDHTYY DG DEEe

Note: The following question follows a definite pattern. Observe the same and fill in
the blank with suitable answer.

Ardd: S0 RDND DI) wE PSP DaLArD) FBPoB. & Do) o
280D DATCHS YD HPBoSed .

2.26.242 . 19682



Options :

2186
1. ¢
1266
2.
986
3%
1356
4. %

Question Number : 34 Question Id : 5494705100 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Sequences and Series : Missing Numbers/Terms
eESren 8ot Fraven : JoHAED) N8I Horen

Note: The following question follows a definite pattern. Observe the same and fill in
the blank with suitable answer.

ArSD: o RAND DI 28 PAYSDI DoLATY) FBoB. & DoDHHTN) B0
DBOHID DATCEH0S a9 Hr8ocsod .

2+5. 94445 161+724/5

Options :

18 +164/5

1. %

38+174/5
2.%

64+ 3245
3. %

72 + 6445



Question Number : 35 Question Id : 5494705101 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Sequences and Series : Missing Numbers/Terms
edSdoren 8ol Fravew : JoHAEY) W8I Haren

Note: The following question follows a definite pattern. Observe the same and fill in
the blank with suitable answer.

ArSD: §o8 AND BI) w8 DANSD JoDAT) FEW8. & JoDHT) HaDow)
200HH HArTHS O HrBocod .
E14W  F13T .117Y .

Options :
020Y
1. ¢

O18Y

O12Y

014Y



Question Number : 36 Question Id : 5494705102 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Sequences and Series : Missing Numbers/Terins
edSSren 80t Fraven 1 JoHrd) DBl Horen

Note: The following question follows a definite pattern. Observe the same and fill in
the blank with suitable answer.

AT S0 FND PB) w8 PIVSD JoHAT) FBWe8. & JoDHT) HiDox)
200D DAFCIE 29D HFBoed .
2.10.30.68.130.

Options :

226
1.

196
2. %

222
3.¢

210



Question Number : 37 Question Id : 5494705103 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Sequences and Series : Missing Numbers/Terms
edEdmren S8oin Frven | JaDLHI) DS Daren

Note: The following question follows a definite pattern. Observe the same and fill in
the blank with suitable answer.

ArSS: S0l DD £I) w8 PSS JabAry FBPos. & Jabdrd) HBded
280D HAFDHE PO DFBosed .
35,106 . 319 _ 958

Options

2845
1.

2855
2. ®

2865
3. %

2875

4. v



Question Number : 38 Question Id : 5494705104 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Sequences and Series : Missing Numbers/Terms
eEAren 80w Feven 1 JoDH) DB Horen

Note: The following question follows a definite pattern. Observe the same and fill in
the blank with suitable answer.

Arsd: 08 RDND DI w8 PAYBWD Jabdrd) FBed. & JaHHrd) BN
2OOHH DATTEHE YD HFBoSed .

42,56,72.90.110,

Options :
110
1. ®
120
2. %
132
3.¢
140



Question Number : 39 Question Id : 5494705105 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Sequences and Series : Missing Numbers/Terms
edSd0ren 8ok Feaven : JoHHE) BDBd Haren

Note: The following question follows a definite pattern. Observe the same and fill in
the blank with suitable answer.

ATDD: §06 FAND PB) w8 PASDD JoHAT) TS, & JaDHTY HdDox)
280D HAFOHeE 0 LrBosod .

ICET , KAGR, . OWKN . QUML . SSOJ

Options :

MYIP
1.¢

NXIP

MXITP

NYIP



Question Number : 40 Question Id : 5494705106 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Sequences and Series : Missing Numbers/Terms
@ESrren 80 Fevew : JaDLHTYY DG DEEe

Note: The following question follows a definite pattern. Observe the same and fill in
the blank with suitable answer.

ArSD $08 DD 0I) wE PANBD JaLATrD) FBPoB. & JoDHIITY) o
HB0DHH DAFoHoE 0D RPBoSed .

INDIA ., KQIPL . .OWSDH . QZXKS . SCCRD

Options :

OTMWW

MTNWW
2.

NTMWW



OTNWW

Question Number : 41 Question Id : 5494705107 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Sequences and Series : Missing Numbers/Terms
eSS0 S80I Frvew 1 AoHIHEY) VBT Horen

Note: The following question follows a definite pattern. Observe the same and fill in
the blank with suitable answer.

AT S0t NS PI) w8 PSS JoHAT) FBWd. & JoDHT) HioDox)
280D DATTHS a9 Hrdocsod .

1 1 1 1 1
a=b a®> b (a+b)(a-b) (a+b)*(a*>-b>) (a+b)(a*-b%)

Options :
1
(a+D)’(a—b)

1.¢



1
(a+ E)}S(a _ by

2. %
1
(@ -b)
3%
1
(@ —b>)a—Db)
4, ®

Question Number : 42 Question Id : 5494705108 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Sequences and Series : Missing Numbers/Terms
eEIren S80I Fravew 1 JoDIEY) VBT Haren

Note: The following question follows a definite pattern. Observe the same and fill in
the blank with suitable answer.

ATDD: §06 NS PB) w8 PAVSDD JoDAT) FBW8. & JoDHr) Hodox)

DBOHH DAFTHeE 79 Qrdosod .

5.4/30.+/35. 24/10 .34/5.

Options :
542
1. ¢
=
S54/3
2. %



Question Number : 43 Question Id : 5494705109 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Sequences and Series : Missing Numbers/Terms
eHEdren 8ot Fraven : oD D8N Doren

Note: The following question follows a definite pattern. Observe the same and fill in
the blank with suitable answer.

ArSD: S0 D DI) w8 PVNIDD JoLATY) FEWd. & JoDEr) Hodow)
2OCDHHD DAFTHS a9 QFBoded .

D BB .H

Options :

R'I'.'

3.¢



Question Number : 44 Question Id : 5494705110 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Sequences and Series : Missing Numbers/Terms
eEdren 8ot Fraven : AoNAE) DB Haren

Note: The following question follows a definite pattern. Observe the same and fill in
the blank with suitable answer.

ATDD: §086 FAND PB) w8 PASD JoDATY) B, & JabHrd) Hdox)

DBODHH DAFTEHS 9D QrBosed .

EpErry
b6 3 3 6 6 3
Options :
iUl
6
1. ®
2
g
5



4. &

Question Number : 45 Question Id : 5494705111 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Sequences and Series : Missing Numbers/Terms
eES0ren 8ot Feven 1 JoHEY) D8I Horen

Note: The following question follows a definite pattern. Observe the same and fill in
the blank with suitable answer.

ArSD: o RAND DI) & PAYSWD JaLATY) FBPoB. & DoDHITI) #Vod
280D DATCHS a9 Hrdodod .

3-.5:.2*451‘35

Options :

3



2. %

6
3. %

0
4.

Question Id : 5494705112 Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (46 to 48)

Problem Solving 203§ 583 6o

B. Data Analysis Gzo® D0
i) Table or Graph ng‘;g gor TR
Note:

The following table gives the number of students admitted into various courses of a university.

Using this data. answer the questions from 46 to 48.

ArSS
208 D88 28 DI jUaDSD DG EDywS” PdEo JobD Demgioe Doago BrDSed. BAY

&HA3r Ao 46 fod) 48 HOH e LAY 3‘36&:‘@‘5}‘5}&550&.



Year dodedyGo —>

L %%ia:jl« 2016 2017 2018 2019
Chemistry 63-00 R0 50 40 55 58
Mathematics ie3d 70 ) 56 58 60
Physics &8s Q0 60 5% 45 52
Botany £, 70 5 56 58 55
Zoology 20 R0 62 65 54 57
Biochemistry 225 637008 70 60 50 55 58

Sub questions

Question Number : 46 Question Id : 5494705113 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Taking all the four years into consideration. in which course there were maximum
number of admissions?
200 TV RoDSVTVA DBAERY, D ES" (18 HITe Jottlo 20A0H?

Options :



Physics

IS FoR0o
1. %8 fo
Zoology
20dh) TR0
2.% A
Mathematics
tie3¢d TR0
3. % =
Chemistry
S a5 TR0
4, ® R

Question Number : 47 Question Id : 5494705114 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

What 1s the percentage increase i admissions of mathematics in 2019 compared to
2016 (approximately)?
2016 RodSJo 5° D'0D, 2019 RoDSybo e&5° feddd TR0 5" DD%o TodD 35"5%39.: “ﬂa;:éé‘

sy oo

Options :



1. v
15.36%
2. %
15.28%
3. %
15.30%
4, ®

Question Number : 48 Question Id : 5494705115 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

What is the ratio of the number of students admitted into the university in 2017 to that
0f 2019?

Dederjoabo &° 2017 & Hdde Jobd i Doaied Lodakw 2019 &° KD JodD
Roas (v A0S

Options :

65 : 69



65 : 67

2. ¢

55:59
3. %

S G e i |
4. %

Question Id : 5494705116 Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (49 to 51)
Problem Solving 2303 H82r) 6o
B. Data Analysis G3°0% DAL
ii) Bar diagram or Pie chart 26 rEY) For - Dedo
Note:

The following Pie chart shows how the municipal funds are spent under different heads in a year.
Study the chart carefully and answer the questions from 49 to 51.

AP
£08 H-D¥o 2.8 PEFOE Doo VPO DG Do €06 D Dorr pAdy SHo8 drindued. & ALY
2 eGiabdo B 49 Hod 51 HODH Ho PI) OB Ve ddod.



Education
120° Dﬁﬁ

addaoen 30°

Housing &0°

(yaI=e)oT) B0 50

Health
Hﬁsﬁéo

Sub questions

Question Number : 49 Question Id : 5494705117 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which single head uses 25% of the total funds?
D DS DO Ao DEY” 25% K0 TEI0EE?

Options :
Health
s o

1. ¢



Education

DES
2. % 3
Housing
(haT T £2
3. % '} e
Roads
Sirorcoen
4, ®

Question Number : 50 Question Id : 5494705118 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

What percentage of the funds is spent on housing?
(<AL €2 Gorio 2 6y BOD DG TS0 dodd ?

Options :
19 -
3
1. %
16 .
3



4.

Question Number : 51 Question Id : 5494705119 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

What 1s the ratio of the expenditure on education to that on health?
D) P BOD DA 5B rifo D BID DA R IS

Options :

37 2
1. %

253
2. %

3:4
3. %

455

4.



Question Id : 5494705120 Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (52 to 55)

Problem Solving  2&o3rg H83) 6o
B. Data Analysis G309 D

iii) Venn diagram or Passage DR Do To© HEGe0

Note:
The survey of 36 students 1n a class pertaining to reading habits of three types of books:  Novels

(N). Fiction (F) and Comics (C) revealed the following information:

12 students read N
15read F
12 read C
3 read both N and C
5 read both N and F
4 read both F and C
And only one reads all of the three books.
Using this information. answer the questions from 52 to 55.

AL
2,8 S6HDS’D 36 od :]CJ‘TS%JE)ESE S0T° ¢ 05T BDHVTTeD; ddwew (N), gabﬁ E@ew (F) dodatn 2805
A5 (C) e 8D voortnen D 201D wl *:'{1356‘ S08 Dnoiren DYETan:

12 0od na-5g3m N & &0 S&odpHadd



15 308 F © & SoHa-d
12 508 C © & SpHed
3 08 N B08ain C © & Fot3d
5 008 N &80k F © & 808D
4 308 F 308050 C © 2 3083
080k SHwo wEH G Argd rdosdd SEDHT®.
& DArarorl)) &dArAod) 52 &od 55 H6DH Ho HIY VD VTG T DOLG

Sub questions

Question Number : 52 Question Id : 5494705121 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The number of students who do not read any of these kinds of books is
DBS® D GBS0 VT VAT BEID DE{BO0 Doy

Options :

3
1. %

6
2. %

7



Question Number : 53 Question Id : 5494705122 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

How many read exactly two of three types of books?
20D S5 HRTLS o GoCotd Ardd BvHD T8 Do) Dod?

Options :

v
1. %

8
2. %

9
3.9

10
4, ®

Question Number : 54 Question Id : 5494705123 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



How many read only Fiction?
SO\S Soen ATED IBDTW Jotw?

Options :
6
1. %
7
2.9
._ 8
3. %
9
4, *

Question Number : 55 Question Id : 5494705124 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

How many read C but not F?
C QD B&0edr, F Q tieddd T°0etd?

Options :

8
1. v



Question Id : 5494705125 Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (56 to 60)

C: Coding and Decoding Problems Ecoh 8ot aEEoh SIS
i) Code Patterns E& ddroren
Note:

Each of the following questions used a different coding pattern. Identify the pattern and answer
the questions from 56 to 60.

AT
206 2D\ DI OS 2.8 HI) D DD ol DYBWOAT Ao ®. &8 HFAD 1od) 56 Wod 60 HELr

o P3) O JArgrdBged.

Sub questions

Question Number : 56 Question Id : 5494705126 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



In a certain code, if “SPRING” is coded as ‘'USWPYT" then, in the same code. the word
that is coded as ‘CXYBXA" 1s

28 D83 §& &° SPRING™ & USWPYT m §€ 83, o8 §& & ‘CXYBXA' m §&
WoDeIGD Do

Options :

SUMMER
1. %

WINTER
2. %

AUTUMN
3. ¢

YELLOW
4, ®

Question Number : 57 Question Id : 5494705127 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



In a certain code. if ‘JANUARY' i1s coded as ‘OFSZFWD’ then code for
‘NOVEMBER' is

2,8 28 &€ o ‘JANUARY' 2 ‘OFSZFWD' r §& Bad e NOVEMBER' aiws),
g&

Options :

STAJRGIW
1. ¢

STAKRMIW
2. %

STAIJSHIW
3. %

STAKRGKW
4, ®

Question Number : 58 Question Id : 5494705128 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



In a certain code, if the word " AMAZON" 1s coded as ‘ZNZALM’ then. in the same
code. the word ‘INFOSYS’ is coded as

Do ‘AMAZON’ D 'ZNZALM' = §6 B, 098 §& &° Dedo INFOSYS” & §&

Options :

RMLUHBH

1. ®

RLUMHBH

RUMHLBH

3. %

RMULHBH
4. ¢

Question Number : 59 Question Id : 5494705129 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

In a certain code, if “BLUE" 1s coded as *ZIQZ’. then the code for ‘LATE" 1s
28 I8 §& &° BLUE & ZIQZ' m §& &3, ey ‘LATE’ & §&

Options :



JXPZ

1.
JPXZ
2. %
JPZX
3. %
IX7P
4. %

Question Number : 60 Question Id : 5494705130 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

In a certain code. if ' BOMBAY’ 1s coded as ‘MOBYAB" then the code word for
‘RAMDAS" 15
208 J8Y §¢ ¢5° BOMBAY' & §& Do MOBYAB’ @008 ‘RAMDAS’ £ §& Do

Options :

SADMAR

SADRAM



MARSAD
3.¢

DASRAM

Question Id : 5494705131 Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (61 to 65)



C: Coding and Decoding Problems o H8at &GS ok SISV
ii) Different Codes D) F& ew
Note:

For the words in English alphabet a code is evolved by the following rules:
i.  Vowels in a word are kept as it 1s in their position as they appear
ii.  The consonants that appear consecutively twice or more will be reversed in the same
position. If only one consonant appears keep it as it is.
The same rules are used for decoding.
Using these codes answer the questions from 61 to 65.
AT

250 L6ATOS D VoD, 28 §8 D 08 Jaharod rIToBoard .
i DB &' o D drdy Sabese T8 .g‘aﬁﬂ S'S comd.
ii. Do & repen Totd G ©od S IS SHSE’ HOIT Y T8 FTS’ DAY W0d)
SN0 Jraird. 28 wE Tre &oll, TP O3 lgvaﬁu &S &oad .
& Edoth & 2S5 doHaren eHArAoT .
B esordore 61 Aod 65 HEEF He DI 0D AT TDIL0G.

Sub questions

Question Number : 61 Question Id : 5494705132 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



The code for the word BROTHER 1s

Hcso BROTHER & §&
Options :
RBOHTER
1.
RBEHTOR
2. %
BTORREH
3. %
BTERROH
4, ®

Question Number : 62 Question Id : 5494705133 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The word coded as " ARAKUVALLEY” 1s
‘ARAKUVALLEY m §& Sodedd Héo

Options :

ARAKULLYVAE



YLLEARAKUAR

2. %

ARAKUVALLEY
3.¢

VALLARAKUYE
4, %

Question Number : 63 Question Id : 5494705134 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The code for ‘PYTHAGORUS 15
PYTHAGORUS & &

Options :
SUROGAHTYP
1. %
YPHTOGRASU
2. %
HTPYOGORUS



HTYPAGORUS

Question Number : 64 Question Id : 5494705135 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

In the code of ‘QUESTION", the letters in 1, 2. 3, 3, 8 places in that order are

‘QUESTION’ 03 D633 §& 65°91, 2, 3, 3, 8 gvavues“a 2807, 098 S0’

Options :

NOIIT
1. %

QUEEN
2. ¢

QUAAN
3. %

TUAAN
4, ®

Question Number : 65 Question Id : 5494705136 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



The string of letters coded as ‘LLYSABUS is
TLLYSABUS' r® §& Bobedd e986 o6l

Options :

SYLLABUS
1.v

LYSLABUS
2. %

YSLLABUS
3. %

SUBALLYS
4, ®

Question Number : 66 Question Id : 5494705137 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Date, Time and Arrangement Problems 38, AAao Hdain s a’asb*@sw

If February 10, 2022 1s Thursday then the day on Christmas in the same vear 1s?
28398 10, 2022 I Co HODIPDHED &8 VoDBBo S50 @cﬁ:é oFs

Options :



SUNDAY

| @ 3T 0o
MONDAY
ot Fualels)

2. %

THURSDAY

3 % LBoarCo
SATURDAY
FDT°Co

4.

Question Number : 67 Question Id : 5494705138 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Date, Time and Arrangement Problems &8, dadvado sodain endse DVVIeD

The time between 6 o'clock and 7 o’clock when the two hands of the clock are at 150°
angle with each other for the first time is
6 Aoc. 7 rotrw B0y ic.asrdo &5°0 dwevw S0 §'t90 20688 150° 200 &

ATDom DaVoo
Options :



. )
4— munutes after 6 o’clock

6 fotoen 4% ADoAren

1. %
i -
7— minutes after 6 o’clock
5
6 tfotren 7— Ddrew
) % 11
oo .
:aﬁmmmes after 6 o’clock
3
6 fotre S— Dorew
- 11
s .
6—1 minutes after 6 o’clock
5
6 ffotreny 6— DIdrew
L 11

Question Number : 68 Question Id : 5494705139 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Date, Time and Arrangement Problems 38, HAvoho 8ok ndse “'n::.u:b?ge.u

The angle between the two hands of the clock at 6:30 AM i3

2650300 6:30 L0 HEo35°Go &5° D Botd SV ;5.)5,‘:5 St

Options :

15°
1. v

[ §7.
2. %

10°
3. &

18°

4, %

Question Number : 69 Question Id : 5494705140 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Date, Time and Arrangement Problems &8, dsvoio dn8oin endse VRO

A and B are children of C. D and E are brothers whose father is B. A is mother of F.
then B is related to F as

A 208030 B oo C adng), Hyew. Taden ©ond D, E 0% B dog. F aing), 88 A. 92y
F3B S o eroddje

Options :
Father
@oé
1. %
Uncle
39/ e0d & Ve
2. ¢
Brother
et
3. %
Grand father
oreh
4, ®

Question Number : 70 Question Id : 5494705141 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response



Time : N.A Think Time : N.A Minimum Instruction Time : 0

Date, Time and Arrangement Problems

38, HAaho 8oty wdse SETUIOY

A train for Hyderabad leaves every 50 minutes from Bangalore. An announcement was
made at Bangalore station that a train to Hyderabad left 40 minutes ago and the next
train is at 4:30 PM. then the time of the announcement is

BofHrdd Aok TFETErE § DA 50 Ao 28 Jeo LaLLBHSR. FTFET LT S

DF; 2,8 Tew 40 DIV Boc DPorD BEHB Tew 4:30 PM & &od Borerdd DA

w8 DELD BOVWEIB. B\ & DELD DBVADO

Options :

4:20 PM



Question Number : 71 Question Id : 5494705142 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Date, Time and Arrangement Problems 30, HdabHo HSHBohy wHdse ":o;ﬁ):“bsw

A person starts from home at 9:15 AM to reach a meeting place which is 72 km from
his home. He travelled by a car at a speed 60 kmph and reached the meeting place 13
minutes before the scheduled time. Then the scheduled time of the meeting 1s

28 578 83 B0t Aol 72 §. . Ardes” &) DITDI RS, ool ecsabo 9:15 &
QODROBTED. BBED 28 TS (o5 60 &. . Sto & PatrHed, VITDF DB LBVADO

s 13 e AT DOESOT™) (2. VDN &3 DIATIIYY bg@ S Feblautls]
Options :

10:14 AM

10:30 AM

10:40 AM
3. ¢

10:04 AM



Question Number : 72 Question Id : 5494705143 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Date, Time and Arrangement Problems &8, dadooabo &08ain esndse DR

Ten persons ay. a,. as. ....a;gare sitting around a circle at equal distances facing the
centre. a;1s opposite to ag. a,1stotheright of ag. a31s opposite to a,. as1s opposite

to a,; who 1s the neighbour of a;, a; and agare neighbours of a,. a;,is opposite to

agand agis his neighbour. Then the neighbours of a; are

DE Dol D[S ). ). d3. .01 N S 20 RDEFT Y FERUT w8 HTT6
VTR Somra0VrT SIENT) 0. ag S DIV ], (g 8 LEDDRD 5, A, D

0DIANPIT 13, A S DD &R (17 S VAIVPTT d5 GT)ED. d7, UgeDd 4y S :?:E:‘QSEJA‘J
ETYD. g8 VYYD &)y S VDIVPOTT (g &ET°) C. DD (38 AN © (L T

Options :

a;and ay

a1 003 g
1. ¢



a>and as

ﬂzmam s
2. %

agand ag

g s000320 ag
3. %

a and ay,

a4 000l ayy
4. %

Question Number : 73 Question Id : 5494705144 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Date, Time and Arrangement Problems 38, HAvoho Hdain esndse ﬁﬁ)ﬁsm

If the symbol * A~ denotes “x’, the symbol ‘o * denotes — and the symbol * ;1 "denotes
‘+°, “¢ "denotes ‘=, then (5 A4u7) 8(6 $p3 A583)=

AT BB X R0, 8T &, T A8 D, TP 2 arDeddiN
(5~ 4u7) 6(6 b3 A583)=

Options :



20

1. v
53
2. %
14
3. %
52
4, %

Question Number : 74 Question Id : 5494705145 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Date, Time and Arrangement Problems 38, doho Hdoin wdse a‘amﬁsm

For integers (a, b). define a @ b =r and a © b = s, where r and s are the remainders,
respectively when a + b and a . b are divided by 7. Then. (25 @ 40) © 10=
gt (a,b)osa+Dbobaina. b e & 7S erfotdT HBy 30 DG 7, 5
20 BONDNE, G D=1 208w a O b =5 1 SRR, WD\ (25 @ 40) © 10=

Options :

2
1. ®



LN

2. %

6
3.9

4
4. %

Question Number : 75 Question Id : 5494705146 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Date, Time and Arrangement Problems 38, HAobo baiv wdse "namﬁ}sw

Forx,y e E, define xgy=(x+y+ 1) and xoy=(x-y+2)*,
then (1e4) e 2@5) =
x,ye 8 x@y=(X+y+1)* 8ot xoy= (X -y +2) e 5D,

e\ (led) & 285) =

Options :
576
1. ®
676



3. %
729

4. %

Communication Ability
Section Id : 54947074
Section Number : 2
Mandatory or Optional : Mandatory
Number of Questions : 54
Section Marks : 70
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0

Question Number : 76 Question Id : 5494705147 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the correct meaning of the word given
Pejorative
Options :

Derogatory
1.

Didactic



Developing

Donating

Question Number : 77 Question Id : 5494705148 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the correct meaning of the word given

Convivial
Options :

Pleasant
1.
Painful

Odorous

Tasty

Question Number : 78 Question Id : 5494705149 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response



Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the correct meaning of the word given

Efficacious
Options :
Useless
1. %
Useful
2.
Contradictory
3 %
Cautious
4. %

Question Number : 79 Question Id : 5494705150 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the correct meaning of the word given

Ubiquitous
Options :

Nowhere



Fortuitous

2. %

Omnipresent
3.

Omnipotent
4. %

Question Number : 80 Question Id : 5494705151 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the correct meaning of the word given
Frailty
Options :
Confusion

Loyalty

Patience



Weakness

Question Number : 81 Question Id : 5494705152 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the correct meaning of the word given

Gratuitous
Options :

Derogatory

Necessary

Ancillary

Complimentary
4. &

Question Number : 82 Question Id : 5494705153 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Choose the correct antonym of the word given

Furtive
Options :
Sneaky
] ®
Hidden
2. %
Open
3.«
Secretive
4, ®

Question Number : 83 Question Id : 5494705154 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the correct synonym of the word given
Guile
Options :

Deceit
1.9



Happiness

2. %

Safety
3%

Honesty
4. %

Question Number : 84 Question Id : 5494705155 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the correct meaning of the expression given

Polygamy is the state of being
Options :

married to many
1. ¢

unmarried

divorced



mairied to one

Question Number : 85 Question Id : 5494705156 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the correct meaning of the underlined idiom in the given sentence

“Did you notice how Satish got the cold shoulder from Dileep™

Options :

was welcomed by
1. ®

was ignored by
2.¢

had a fight with

accepted the prize from

Question Number : 86 Question Id : 5494705157 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Fill in the blank by choosing the correct word given

They could go to the college as the flood water

Options :

decided
1. %

conceded
2. %

receded
3.

proceeded
4, %

Question Number : 87 Question Id : 5494705158 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Fill in the blank by choosing the correct word given

The new drug is able to the development of cancerous cells.

Options :

promotie



arrest

2.

uphold
3 %

endorse
4, %

Question Number : 88 Question Id : 5494705159 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the correct meaning of the word given

Abet
Options :
Resist
], %
Buy
2. %
Assist
3. %
Prohibit



Question Number : 89 Question Id : 5494705160 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Fill in the blank by choosing the correct word given

The police could the thief after a long chase.
Options :
amend
1. ®
append
2. %
commend
3. %
apprehend
4.

Question Number : 90 Question Id : 5494705161 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Fill in the blank by choosing the correct word given

‘Entomology” is a science of

Options :



birds

], %

msects
2.9

reptiles
3 %

maminals
4, %

Question Number : 91 Question Id : 5494705162 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Fill in the blank by choosing an appropriate answer

The partnership entity is
Options :

legal entity

neither entity nor accountable entity

legal and accountable entity
3.¢



legal and unaccountable entity

Question Number : 92 Question Id : 5494705163 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the appropriate answer

The most basic language a computer is said to understand is

Options :

bandwidth
1. ®

binary code
2.

byte
3. %

boot
4. %

Question Number : 93 Question Id : 5494705164 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Choose the appropriate answer

ASCTI stands for
Options :

American Standard Code for Information Interchange

1. ¥
American Software Code for Information Interchange
2. %
American Software Code for Information Interface
3 %
American Standard Code for Information Interface
4, %

Question Number : 94 Question Id : 5494705165 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the appropriate answer

DSL (Digital Subscriber Line) is related to ;
Options :

distant band



broadband

2. ¢

digital cable band
3. %

digital standard band
4.%

Question Number : 95 Question Id : 5494705166 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the appropriate answer

A computer program that functions as an intermediary between a computer user and
the computer hardware is called

Options :
software
1. %
hardware
2. %

operafing system
3.¢



driver

Question Number : 96 Question Id : 5494705167 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the appropriate answer

Induction of an employee in a company takes place

Options :

at the college campus
1. %

before recruitment
2. %

after selection

after probation and confirmation

Question Number : 97 Question Id : 5494705168 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Choose the appropriate answer

Another name for application software 1s
Options :

end user software

1.¢

utility software
2. %

specific software
3. %

practical software
4. %

Question Number : 98 Question Id : 5494705169 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the appropriate answer

Restarting the computer without turning off the power is called
Options :

warm boot
1.



cold start

2. %

old start
3. %

young boot
4.%

Question Number : 99 Question Id : 5494705170 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the appropriate answer

Using social networks to promote a product on social media platforms is called

Options :

social marketing
1. *

viral marketing
2. %

social advertising
3. ¢



data drives advertising

Question Number : 100 Question Id : 5494705171 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the appropriate answer

Which feature is used to save a web page’s location for future retrieval?

Options :
Benchmark
1. %
Save
2. %
Find
3 %
Bookmark
4. &

Question Number : 101 Question Id : 5494705172 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Choose the appropriate answer

The capacity of a networked connection is determined by

Options :
bandwidth
1.v
megabyte
2. %

binary code

debugging

Question Number : 102 Question Id : 5494705173 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the appropriate answer
The transistorized computer circuits were introduced in the
Options :

first generation
1.



second generation

2.¢

third generation
3. %

fourth generation
4. %

Question Number : 103 Question Id : 5494705174 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the appropriate answer

A financial inducement to an employee. so that he may not leave the place where he

1s working is called
Options :

group norm

golden handshake

golden handcuffs
3.



global shift

Question Number : 104 Question Id : 5494705175 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the appropriate answer

Dividend is paid on
Options :

company debentures

1. ®

company deposits
2. %

company shares
3.

company bonds
4.%

Question Number : 105 Question Id : 5494705176 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Choose the appropriate answer

Directors of a joint stock company are elected by

Options :

gDVE‘]‘I]lllElH representa tives

1. %

SEBI
2. %

shareholders of the company
3.¢

stock exchange representatives
4. %

Question Number : 106 Question Id : 5494705177 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Fill in the blank by choosing the correct answer

He gave the presentation being 1ll.

Options :

from



despite

2.9

with
3 %

on
4, %

Question Number : 107 Question Id : 5494705178 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Fill in the blank by choosing the correct answer

If you are thinking about investing overseas. sense to find an
experienced guide?

Options :

doesn’t it make
1.

is it not making

does i1t make
3 %



did 1t make

Question Number : 108 Question Id : 5494705179 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Fill in the blank by choosing the correct answer

I am sorry the mistake.
Options :
from
1 ®
with
2. %
for
3.
at
4. %

Question Number : 109 Question Id : 5494705180 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Fill in the blank by choosing the correct answer

The book five sections.

Options :

comprises of
1 ®

COMIPIiSEs
2.¢

COonsists
3. %

comprises to
4. %

Question Number : 110 Question Id : 5494705181 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Fill in the blank by choosing the correct answer

They wanted to get their work done by hook or crook.

Options :

5

for
1. %



2.¢

at
3. %

upon
4, %

Question Number : 111 Question Id : 5494705182 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Fill in the blank by choosing the correct answer

The watchman prevented Ravi parking his vehicle near the gate.
Options :

with

from

for
3, %

on



Question Number : 112 Question Id : 5494705183 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the option that is the passive form of the given sentence

The detective found the lost necklace.
Options :

The lost necklace was found by the detective

1. ¢
The lost necklace had been find by the detective.
2. %
The lost necklace founded by the detective.
3. %
The lost necklace should find the detective.
4.%

Question Number : 113 Question Id : 5494705184 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Fill in the blank by choosing the correct answer

[ was amazed their audacity:.

Options :



n

1. ®
at
2. ¢
for
3, %
1o
4, %

Question Number : 114 Question Id : 5494705185 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Fill in the blank by choosing the correct answer

Raju loves to munch something he is watching a movie on television.
Options :
however

despite

50



while
4.

Question Number : 115 Question Id : 5494705186 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the option that is active form of the given sentence

The marathon race was run by Shiva in record time.

Options :

Shiva will run the marathon race in record time.
], %

Shiva runs the marathon race in record time.
2. %

Shiva had ran the marathon race in record time.
3 %

Shiva ran the marathon race in record time.
4.

Question Number : 116 Question Id : 5494705187 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Fill in the blank by choosing the correct answer

You wear your best shoes if you are going out for dinner.
Options :

had to
1. %

had to better
2. %

should better
3.9

could better

Question Number : 117 Question Id : 5494705188 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Fill in the blank by choosing the correct answer
Had the police not reached there in time the bandits him.

Options :

would kill



will have killed

2. %

would have killed
3.¢

had killed
4, %

Question Number : 118 Question Id : 5494705189 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Fill in the blank by choosing the correct answer

If they were rich enough. they that expensive car.
Options :

will buy

1. ®

would have bought
2.¢

should buy
3. %

will have bought



Question Number : 119 Question Id : 5494705190 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Fill in the blank by choosing the correct answer

‘He took up the gauntlet thrown up by his colleagues’ means that he
their challenge.

Options :

refused
1. ®

postponed
2. %

accepted
3. ¢

suspended
4. %

Question Number : 120 Question Id : 5494705191 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Fill in the blank by choosing the correct answer

We must distinguish the good from bad.



Options :

a
], %

an
2. %

the
3.«

1
4, %

Question Number : 121 Question Id : 5494705192 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Fill in the blank by choosing the correct answer

Gandhiji is the father of the Nation.
Options :
called
1. v
called as
2.
known



remembered

Question Number : 122 Question Id : 5494705193 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Fill in the blank by choosing the correct answer

In large cities people are cut from nature.
Options :
away
off

out

down

Question Number : 123 Question Id : 5494705194 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Fill in the blank by choosing the correct answer

Hope the best and prepare for the worst.
Options :
on
1. %
at
2. %
by
3. %
for
4.

Question Number : 124 Question Id : 5494705195 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Fill in the blank by choosing the correct answer

The active voice of A most enjoyvable time was had by everybody’ may be
‘Everybody a most enjoyable time.’

Options :

has



have

2. %

had
3.9

been
4, %

Question Number : 125 Question Id : 5494705196 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Fill in the blank by choosing the correct answer

He 1s inferior me.
Options :

than

o1l



Question Id : 5494705197 Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (126 to 130)



Read the passage below and choose the correct answer for the questions from 126 to 130

Surveillance has increased manifold since the 9/11 terror attacks on the World Trade
Centre 1n the U.S. This increase in surveillance today shapes the relationship between the state
and the individual. The state keeps an eye on its citizens, thereby positing each and every citizen
as a potential wrong-doer. For instance, the proliferation of the CCTV cameras in streets.
restaurants and in every imaginable public space has now become an order of increased vigilance.
In fact, the camera need not even be functional i order to make the citizens behave themselves —
its mere presence 1s enough to scare the citizens into submission. Such is the power of the mere
potential of surveillance.

Surveillance studies have shown that these techniques might not be too effective at all
times, citizens might feign decent behavior in order to avoid themselves from getting into a tussle
with the law of the land. But it does not assure the state of reformation in the attitude of the citizens.
It 1s a mere eye-wash. It works only when the citizen truly desires to transform his or her attitude
and adopt decency in all walks of life.

The act of constant surveillance makes the state a voyeur — a person who derives pleasure
from watching events unfold in a secretive manner. A recent case in point would be the raid on a
hotel i the so-called cosmopolitan city of Mumbai where young couples were consensually
residing. The state has today entered the bed-room. And this 1s an unhealthy proposition!

Sub questions

Question Number : 126 Question Id : 5494705198 Display Question Number : Yes Is Question Mandatory : No Calculator : None



Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Who 1s shaping the relationship of the state and the individual. according to the
passage?

Options :

Social media

I
Press
2. %
Welfare schemes
3 %
Surveillance
4.

Question Number : 127 Question Id : 5494705199 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Identify the word that comes close to the meaning of the word “proliferation™ found
m the first paragraph

Options :

absence



PrescIice

2. %

suppression
3. %

expansion
4.9

Question Number : 128 Question Id : 5494705200 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Even the potential of surveillance 1s carried out
Options :

with the mere presence of the device camera

1.
with the actual functioning of camera
2. %
with mere warning of surveillance on the wall
3. %
with the conditioning of the mind of the people
4.%

Question Number : 129 Question Id : 5494705201 Display Question Number : Yes Is Question Mandatory : No Calculator : None



Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

*....citizens might feign decent behaviour...” could mean:

Options :

citizens really behaving decently
1. ®

citizens pretending decent behaviour
2.¢

citizens being different to decent behaviour

citizens openly opposing decent behaviour

Question Number : 130 Question Id : 5494705202 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

“It 1s mere eye-wash.” What is the idiomatic implication for the theme of
surveillance of the passage?

Options :

sincere solution

permanent solution



cleaning eyes

msincere solution

Question Id : 5494705203 Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (131 to 135)



Read the passage below and choose the correct answer for the questions from 131 to 136

Today’s world can truly be called a “society of spectacle”. a phrase that the French
sociologist and thinker Guy de Bord used decades earlier. Every act of lived experience has today
become a spectacle. It would be a little incorrect to say that this craze for spectacle-izing
everything that occurs around us is a recent phenomenon. If one had watched the Pirates of the
Caribbean movies. one would realize that even in the late eighteenth century, executions were
public events - a large portion of the populace would gather around the site of the hanging in the
city square in order to see justice being meted out in front of their very own eyes. It was also a
form of popular entertainment. It was a sort of a collective public blood-letting.

The spectacle that the contemporary society has become an overwhelming experience. One
enters into a restaurant, orders an exotic dish — but the proof of having eaten the same doesn’t exist
until tons of photographs are clicked from varied angles and shared on social networking sites.
One goes for a holiday to a calm and serene location. but is all the while busy telling the world
about if as if one has to document every movement of one’s existence. When does one live that
moment then? Perhaps it 1s in the documentation that one survives these days!

Sub questions

Question Number : 131 Question Id : 5494705204 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What is the implication of the phrase coined by “society of the spectacle™ by the
French sociologist and thinker, Guy de Bord?



Options :

Society turning everything into spectacles

1. %
) Society turning every lived experience into a spectacle
2.
Society interested in enjoying its privacy
3. %
Society interested in enjoying every moment
4.%

Question Number : 132 Question Id : 5494705205 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What is the recent phenomenon of society that has become a craze for 1t?
Options :

Abusing internet

Paying through credit cards

Spectacle-izing
3.¢



Avoiding real socializing

Question Number : 133 Question Id : 5494705206 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

According to the passage. these days proof of having eaten exists in

Options :
clicking the food that is ordered for and putting them on the social
networking sites
1.v
preferring a restaurant that is famous for the quality of the food
2. %
paying huge bill
3. %
enjoying the food that has been ordered for
4. %

Question Number : 134 Question Id : 5494705207 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The author of the passage brings a parallel to the theme of collective enjoyment by
referring to a film. What is the parallel?



Options :

Collective participation in a singing

1. %
Joining a chorus of a song
2. %
Partaking in a food in public
3. %
Watching the spectacle of collective blood letting
4. ¥

Question Number : 135 Question Id : 5494705208 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

According to the passage what 1s given priority by the contemporary society?
Options :

Living in the present

Living in the past

Documenting the present
3. ¢



Living in the future

Question Id : 5494705209 Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (136 to 140)

Read the passage below and choose the correct answer for the questions from 136 to 140

The Odisha government on Thursday started evacuating people from low-lying areas in
several coastal districts to safer places as cyclone Fani is likely to hit the State’s coast in Puri
district on Friday evening.

As the sky remained overcast since morning, light rain has begun in many areas in the
coastal belt. More than eight lakh people were to be brought to cyclone shelters and other safer
places by this evening, according to officials. Adequate arrangements have been made at the
cyclone shelters. The India Meteorological Department has predicted that Fani will make landfall
at around 5.30 p.m. on Friday. wind speeds at 170-180 kmph gusting to 200 kmph. accompanied
by tidal surge of about 1.5 metres.

As many as 25 teams of the National Disaster Response Force (NDRF). Odisha Disaster
Rapid Action Force (ODRAF) along with State fire service personnel have been engaged in the
evacuation exercise. Defence forces are on high alert to meet any eventuality.

The East Coast Railway has announced to run at least three special trains from Puri to West
Bengal during the day. More than 80 trains had been cancelled between Bhadrak and



Vizianagaram stations on Thursday. 14 districts in Odisha which are likely to be affected by the
cyclone are Ganjam, Gajapati, Puri, Khurda, Nayagarh, Cuttack, Dhenkanal. Jagatsinghpur,
Kendrapara. Jajpur. Keonjhar. Bhadrak. Balasore and Mayurbhanj.

Chief Minister Naveen Patnaik on Thursday appealed to the people to not panic, and
cooperate with the administration in handling the situation. Stating that the State government was
fully ready to tackle the situation. Mr. Patnaik emphasized the need to pay special attention to
women, children, elderly and people with disabilities during the cyclone. The Chief Minister met
the telecom operators at the State Secretariat this morning and reviewed their preparedness to
maintain communication link during the cyclone. Mr. Patnaik also held one-on-one talks with
Secretaries of line departments regarding their preparedness.

Sub questions

Question Number : 136 Question Id : 5494705210 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following statements sums up what the passage is primarily about?
Options :
The efforts of the disaster management forces to avert the danger.
1. ¢

The relief measures taken up by the various national bodies.



The Chief Minister’s assurance to the people of the affected areas.

The measures taken to compensate the extent of loss and damage to human

beings.
4, % =

Question Number : 137 Question Id : 5494705211 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The passage does not refer to preparedness with respect to
Options :

trains

fire safety

2.9

communication modes
3 %

human beings.
4, %

Question Number : 138 Question Id : 5494705212 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



According to this passage how many persons have been moved to safer places?

Options :

25 lakh
1. %

14 lakh
2. %

8 lakh
3. ¢

5 lakh
4, ®

Question Number : 139 Question Id : 5494705213 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following departments did the Chief Minister speak to directly?
Options :
Disaster management

1. ®

Line
2.%



Meteorological

Railways

Question Number : 140 Question Id : 5494705214 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

From the style of the passage. it can be inferred that it is a

Options :

newspaper report about a national disaster

1.¢
statistical report about environmental 1ssues
2. %
scholarly article on cyclones
3. %
government document about measures to be taken to face disasters
4, %

Question Id : 5494705215 Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (141 to 145)



Read the passage below and choose the correct answer for the questions from 141 to 146

Every time someone mails a letter or hands over a currency note in India. every time an
Indian bureaucrat stamps a document with an official seal. they are handling a symbol that dates
back over 2,000 years: four lions sculpted in stone, one facing in each direction. The man who
created this potent and enduring icon is a towering. mysterious figure in India’s history. a king
from the third century BC whose ideas — above all, that a ruler must accept the diversity of his
subjects’ beliefs — were long forgotten. but retuned to inspire the modern day Indian state.

We know him today by the name Ashoka. to look at he was unprepossessing — a bit of a
lens -breaker. as they say in Bollywood: short. fat and famously afflicted by bad skin. Yet he was
a lucky man too. known in his lifetime as devanampiya. ‘beloved of the gods’. He transformed
what was still a nascent sect — Buddhism — into a world religion, transmitting its ethical vision
across the subcontinent and the rest of Asia. And. most unusually for a royal- in any country at the
time or since he spread his ideas not through violence. but through moral force and persuasion.

Sub questions

Question Number : 141 Question Id : 5494705216 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The symbol the first paragraph describes is that of
Options :

the four lions
1. ¢



a letter

2. %

a document
3 %

modern India
4, %

Question Number : 142 Question Id : 5494705217 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The most important idea the modern Indian state has taken from Ashoka is

Options :
Buddhism
1. %
accepting diversity of beliefs
2. ¢
the four lions
3. %
Bollywood



Question Number : 143 Question Id : 5494705218 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The word ‘unprepossessing’ means

Options :
Aftractive
], %
Unlucky
2. %
Handsome
3. %
Unappealing
4.9

Question Number : 144 Question Id : 5494705219 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In the spread of Buddhism. Ashoka used force.
Options :

physical

political



brute

moral
4.

Question Number : 145 Question Id : 5494705220 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Identify the wrong statement about Ashoka.

Options :
. He was not called Ashoka during his life time.

i} He was mstrumental in the spread of Buddhism in Asia.
2.

} He suffered from a skin disease.
3.

He was considered handsome.

4.9
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Maximum Instruction Time : 0

Question Number : 146 Question Id : 5494705221 Display Question Number : Yes Is Question Mandatory : No Calculator : None
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Arithmetical Ability 908 ricded bﬂ&ﬁsgéc

e £3 oyt -
If 27 +3¥ =59 and 2" + 3" =209 . then the length of the hypotenuse of the right-
angle triangle having x and y as sides 1s
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Arithmetical Ability 05 .ﬂvaﬁ)gﬁo

. x gy .z : 3 - -
If " =b" =c® =d" and abc=d". then the harmonic mean of x. v and = is
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Arithmetical Ability 905(1eded APsG 0

=)
If 25x% +583% +16z% =30xy+ 563z, then x:y:z=
25x% +58y% +16z7 =30xp+ 5612 es0n8, BN XIyiz=
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Ifx:y=3:7andx+y=80,thenx+6:y+4=

X y=3.7,x+y=80 0008, x+6.y+4=
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Arithmetical Ability 905 ieded Snsﬁ)gﬁu

If @ and b are two non-zero unequal numbers, then

(a=b)a—b) _
(a+b)Na +b)
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(a+b)(Na +b)
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Arithmetical Ability e05ieded E‘P;ﬁagan

The number of positive divisors of 13! is

13! W), BJT RSO Doy
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Arithmetical Ability 905 1e3ed bv;ﬁ)géo

If the ten digit number 2354435316 is divisible by 9 and @ — b =5 then the ordered
pair (a, b) =

DO oSV Vo 235a43b316 D 9 D3 QoM™ eHRB 2080 d — b =3 esond YN

g0 0 (a, b)=
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Arithmetical Ability 905 ieded bvaﬁ)gﬁo

The greatest common divisor of the numbers a =15°-12%and b=15%-127is

Roa§e0 d = 15°-12% soamo b=15"12" 0 a8y F 25 eraso

Options :
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Arithmetical Ability 905 ie3ed Snsﬁ)gﬁu

If an aluminium wire of length 8 m 96 ¢cm: and a copper wire of 5 m 12 cm are cut into
pieces of equal length °/° cm. then the maximum possible value of 77 1s

8 . 96 Do. M. TEHDJY eer{ oo H6D, 5 . 12 Do. D. D) 28 o°h i

2ATD TEDD 1 Do. . © S008) 0T S803, BN 1’ e, (18R Ded
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Arithmetical Ability e05iedeh S‘mgén

: : 5 o ; i . ;
In the decimal representation of ot the digit at the 27™ decimal place is

5
E as), GF 0P 6o’ 27 S T 0% g"ﬁﬁo &5° &of €908

—
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Arithmetical Ability e905iedeh .ﬂvmgﬁn

and —; and b 1s half of the

h|

u.l|"_.h

If a 1s the reciprocal of the sum of the reciprocals of

- 5 a
reciprocal of 23 then =
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Arithmetical Ability e908ieded .E’Psﬁ)gﬁn

If a,.a,.a;and a, 1s the decreasing order of the elements m the set
27 58

{—_—_—, }then a+as =

7158 20

2

27T 5 9 _
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Arithmetical Ability e905ieded .ﬁvsﬁ)g&o

If x=+/23, y= 3/29 and z=%/32 . then

x=+v23, y=329 so8am0 z =132 wows, ey
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Arithmetical Ability e905ieded bvmg&u

If 8% of a property is worth Rs. 1.76 lakhs. then the worth of the whole property (in
lakhs of rupees) is

208 83065° 8% Dewd 6r 1.76 0558, &5 200 ) Jend (wge draraide”)
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Arithmetical Ability e905ieded &mgéo

For a fraction. if the numerator is increased by 20% and the denominator 1s decreased

4 . L.
by 20% we get o Then the original fraction is

1] L] 4 o e -
28 e‘;mlc e5°D 9.::*.2};1 20% Dow), :3*50“;'.}‘1 20% @Qﬁ} ? DB, VI & D e‘;m;lo
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Arithmetical Ability 905 ieded .ﬁvmgéu

After two successive discounts of 10% each on the marked price of an item if a person

bought it for Rs. 810/-. then the marked price (in rupees) of the item is

DS DO D Totd IWD CIYotw, wE)YE), FB 10% TYYD AN SDOTS s (8
S0 6. 810/~ © & o, ey & HROD) DEOS Do (6rdaHe’)
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Arithmetical Ability 9053 Sﬂ&ﬁ)géo

An article when sold at 5% profit yields Rs. 15 more than when it is sold at a loss of
10%. The cost price (in rupees) of the article is

28 DAY 57 erdio S T SN ﬁ“aﬁn& 08 DD 107 Do SO 2T Oy
ﬁ".‘fu.}é Sol3 doe. 15 JSJE]:). &3 DA §°a‘)cl Fal 3 {d?é"ﬁ‘.i}gf}
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Arithmetical Ability e905ieded S‘mgﬁu

A and B enter into a partnership investing capitals in the ratio 3 ; 4. At the end of the
three months A has withdrawn and B continued for some time. If the profits are shared
in the ratio 1 : 4 at the end of the business. the number of months B contmued the
business is

3 : 4 i BeS° Deweachren DO A, B e 28 wﬁﬁﬂsmﬁ J"TSE)"U“DJ FBoDoTED. SIPED Deew
20ADD ST A :f?ga“cic A0l DBWoETT, B Focd stwo AT R, D“éb"ﬂ'“cej

erero 1 - 4 R}abe_‘lgéf Dothoetd, B es J*sﬂ“ﬂ“.:):l 30D Do ESEES]
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Arithmetical Ability e908ie3ed .i’}‘sj)gén

A person P started a business and after 6 months Q joined him with an investment
equal to one-third of P. The share of Q (in Rs.) in the year-end profit of Rs.3.50.000/-

1s

P 93 518 T 6o F6oDotre B0BA% 6 DU ST P HENLIAS” HrE Dot DEWES
Q 0BJE BU . WodB\T o erzio 6. 3,50,000/ © &° Q Toer (6rroe’)

Options :
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3. %
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Arithmetical Ability 905 ricded .E}va'ngﬁo

Pipes P and Q can fill an empty tank individually in 9 hours and 12 hours respectively.
If these are opened alternately every hour, starting with P, the pipe that fills the tank
finally and the total time taken are given by

e P, Q e 28 a9 SE DEDENT SOV 9 fotren AL 12 fotiw &° Jodw.
P & 200650008 D8 (o) 28T SHT S ETA BEORT Gol) DHO™ STV Jod P,
DoTrIS ::-eg} 2o S0 {ﬁc&.‘}g._?ﬁ}

Options :

P fills and it takes mihmu‘s

P Qoipcdoed, 10 i Hotre) HELBE
1.

Q fills and it takes 10 éhours

[

|
Q QonBood, 10— otren DEIBCA
3
2. %



P fills and it takes 10% hours

P Deoinddoed, lﬂé fiotren DB

.
Q fills and 1t takes 10 i hours

Q Donhed, 10% fotre DB
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Arithmetical Ability 908 ieded &mgﬁu

Taps A and B take 6 hours and 8 hours respectively to fill an empty tank and another

tap C empties the full tank in x hours. Due to a problem, tap C could not be closed. If
it took 12 hours for them to fill the tank, then the value of x 1s

208 ard Ség.:} DoHerd Hveonen A, B © £) S0 6 (otiew, 8 ffotren HEIBIeH. 0B
E0WC00 €3 Dot & eg.b ¥ fotrwes® ar® Babriecy. 28 "n:m‘;o?();ﬁg Ovrow C D Sardaoito
DOCSED. €8 S JoFAS TS 12 (oI D20 DES HE X DD

Options :
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Arithmetical Ability 0513 bnsﬁ)gﬁn

Three trains A. B and C moving with respective speeds Si, Sz and Ss kmph take t1. i
and tz hours respectively to cover a distance of x km.
HS:1:8::58:=3:4:5, thenti:bh: =

SERT o0 S1. S1, S38. . Dtfed’ HEB Bew A, B, C eox &. . Grody ToedS

SR 1, b, 13 totren &8 ctran. S1:52:83=3:4:5 oo, f; i 3=
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16:15:9



Question Number : 169 Question Id : 5494705244 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Arithmetical Ability 905 ricded f:}“;.bgﬁu

A train takes 40 minutes to cover a distance of 60 km. If its speed is reduced by 15

kmph, then the time it takes (in minutes) to cover the same distance is

28 gen 60 &. . Groed) 40 AWAG” BofL. T o Fotd 15 &. . BAD, d
GSrod) Treedd & Sensd DE DAobo (Aoareg’)

Options :
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Arithmetical Ability 905 ie3ed &mgéu

A person P is 3 times more efficient than another person Q in doing a job. If Q alone

needs 60 hours to complete the work then the time (in hours) required for P and Q

together to complete it is
P e b?gé 208's ;555 Q S0l 20D T DD Do sgamm. Q 2.5 G & DA 60
(otes” 78 BanADAS T78EEr (P ,Q en) $8D &3 HID e Baberdd HE DILo
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Arithmetical Ability e905ie3ed %vsj.)gan

A. B and C can complete a work individually m 20 days, 15 days and 12 days
respectively. A and C started the work together and left it after 4 days. The number of

days needed for B to complete the remaining work is

A, B H08a030 C e DEDEM € HDD Baberds Hdorr 20 Saren, 15 Haren, 12 Sazren

SRODETE. A 08I C e 9D DAY F6oDod) D Serodte(d & HAD 6O
D903, DWADD DIV rEBaDErIE B & 50603 Sere Doa)y
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Arithmetical Ability e905ieded S*aﬁ)g&n

In a right angled 1sosceles triangle the length of its hypotenuse 1s 12 cm. If the area of

the triangle 1s @ sq.cm. then the number of distinct prime divisors of the number a 1s

28 DA Lot GRING" §o T'ED) 12 Do. D. &8 o PTVo  B. V0.V.

e9020E3 €9 "faaa::?s a o30S, ﬁettbl DR P25 ‘J-aoaaé
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Arithmetical Ability e905ieded hﬂmgﬁo

The maximum possible length (in meters) of the rod that can be placed in a rectangular

field of area 120 sq. m. and having perimeter 46 m. is

120 &. . PToo, 46 ab. wtWE WS $D2 2.8 A BBCTTC EBod” &osrDAD 6 a0,

160 T (Doerses®)
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Arithmetical Ability 05163 S‘mgén

If the volume of a sphere of radius ‘7’ 1s equal to the volume of a cylinder whose base

: ST -
radius 1s = and height /. then /1 =

; - i#
b 5‘53"20 g0 AV ADBATE, MroT(d 0o < S0boin A h de QDo

e

DOADBITET IS VATIDB RO E h=

Options :
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Arithmetical Ability e05ieded %ﬂsﬁagﬁn

The volume (in cubic cm) of the metal required to manufacture a hollow pipe of 56 cm

length. 4 cm thickness and whose outer perimeter 1s 440 cm is

56 Do. . TP, 4 Do. D. Aole, DD wed Fue 440 No. . 503 s Ev Feo
SO3G) BODETS BIVED S°53°5Y) OIDBATEO (20D Do. . © &)
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Arithmetical Ability 905 ieded E}‘sﬁ)gso

If a copper solid sphere of radius 3 cm is melted and drawn into a wire of diameter 0.2
cn. then the length (in meters) of the wire is

3 2o. . T§FGo (o) 28 0D TH Herd) €6Med 0.2 Do 5. TR0 (0 8 SAMT B, €
&t Ty (Doerges®)
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Arithmetical Ability e905iedeh S‘mgﬁn

A cube has a side of a cm. If its side 1s increased by 5%. then the percentage increase
in its lateral surface area 1s

208 VA Mot ad Do. . T Lot 5% 2oLIDINED, &3 LAY 28, S0 DFVjo S5°
2DAMDEL TSI

Options :
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Arithmetical Ability eo5ied e &mgén

The length. breadth and height of a room are 4 m. 3 m and 5 m respectively. The cost
(in Rs.) of painting the 4 walls of the room and its roof at the rate of Rs. 40 per sq. m.
15

28 (66 Mg, TED), DEewy SHB0KL IS0 4 ., 3 a. SOOI 5 . BorDOErIS
DB BEE) WOML 6. 40 © TYND, & (6 Treurd HEen JBA D SHYIL Co®d
SaedE ey )y (GrJrases®)
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Arithmetical Ability e905ieded Smsi)géu
If a positive integer » divides a — b, where g and b are integers then we write

a = b (mod n). The number of primes p with2 <p < 100 and p = 5 (mod 7) 1s

28 B JPT eSS0 N, d — b Jertd (we)c a, bw QPgresTD) DN A = b (mod n)

@ o"e. 2P < 100 e0pa> p = 5 (mod 7) erchienedt D" Dod(en p o Doa)
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Arithmetical Ability e905ieded S‘mgéo

The remainder obtained when 3°% is divided by 28 is

378 D 28 & erhotsir S8y Fadw
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2. %
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Algebraic and Geometrical Ability Daieded S08ak Fariicded 3*353%50

If p . g are two statements, then

p— (p— (p— q)) 1s equivalent to

P - q Dot DIVT 0B, p— (P (P q)) 8 So0i0d8

Options :
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P—q
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Algebraic and Geometrical Ability Datiedes 0Bosn Fartiedes 5‘.!“&‘.1}850

If a set A has 6 elements. then the number of reflexive relations that can be defined on
A is

28 DB A & 6 JorosTened, A D BRI DT°HGD Dorer e Voady

Options :
~30
i
1.
236_ 26
2. %
30
3. %
2'5
4, %

Question Number : 183 Question Id : 5494705258 Display Question Number : Yes Is Question Mandatory : No Calculator : None



Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Algebraic and Geometrical Ability Datieded S08ak Farricded bﬂ&ﬁng’so

The intercept made by the line passing through the points (3, —5) and (7.1) on the y —
axis 1s

DocoHen (3. —5) 20daiw (7.1) Mo °ad 2EW0 1980 D g)dﬁ}ﬂfﬂ e90e0 ocio

Options :
—19
1. 3
—19
2
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Algebraic and Geometrical Ability Daieded 0803 Sarricdsd 5‘&53350

Options :
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Algebraic and Geometrical Ability Daieded S08as Farticded bﬂ&‘.bgao

The angles of elevation of the top of a tower of height 80 m when observed from two
points A. B on the level ground which are on either side of the tower and collinear with
the foot of the tower are respectively 30° and 45° then the distance between A and B

(in meters) 1s

80 g A (v HQYTIE A D e Ld20 P HHE Jeo & :aﬁiio:i:moizé B0t
DoGODeD A, B © B00é (5:200DDIE HDS 3060 B e Erren S 30° 2830
45° 008, Q)Y A 20801 B © &6 Grdo (oerges®)

Options :
80(+/3+1)
1.9
80(+/3 +1)
2. % ﬁ
80(+/3 —1)



80(x/3 -1)

J3
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Algebraic and Geometrical Ability Datieded S00a30 Farricded évaﬁsgﬁo

If x — 17 1s a factor of the polynomial p(x) then a factor of p(4x + 1) 1s

X008 P(X) 8 x — 17 28 576708 208 el p(dx + 1) § .8 s6eToto
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e |
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x+4
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Algebraic and Geometrical Ability Datieded 0Bt Farticded aﬂaﬁ)gﬁo

In an arithmetic progression the sum of the first 21 terms is 1470, then the 11 term of

that progression 1s

28 908 3G &S° 2 21 Horw Ao 1470 oS, &3 3& &° 11 S Do

Options :
735
1. ®
147
2. %
140
3. %
70

4. &
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Algebraic and Geometrical Ability Datigded S8t Saericded &';iugau

x> —3x?+5x—3
Lim

x—1 x2+4x—5

Options :
2
=
3
1. %
1
=
J
2.9
2
5
3. %
3
5
4,

Question Number : 189 Question Id : 5494705264 Display Question Number : Yes Is Question Mandatory : No Calculator : None
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Algebraic and Geometrical Ability Daticded S08a50 Farricded .51';53850

8
: . . e .
The term mdependent of x in the expansion of (— —3x° ] is
X

8
4 "

{— = 3x3] DRORES” ¥ Aol VBoSOD Do
X

Options :

23T

Question Number : 190 Question Id : 5494705265 Display Question Number : Yes Is Question Mandatory : No Calculator : None
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Algebraic and Geometrical Ability Daieded S000%0 Farricdes bv:mgﬁo

The area of the circle (in sq. cm) that can be inscribed in an equilateral triangle of area

1643 cm? is

DTVfo 164/3 5. 0. . B0 2,8 DA0ETI Szioaso & eoddDoiercid B dFo (. No.
. © &°)

Options :
647
1. %
64
ik
3
2. %
16
— R
3
3. ¢
lom
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Statistical Ability  tigros .%vmgso

If the arithmeticmean of 15.21.17.x.19.24 .45 .37 1s 29, thenx =

1

N

21 1. x2,.19.24. 45 37 © w98 mcﬁémm 29 9003 ¥ =

Options :

fs)
M

44

64
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Statistical Ability  titeos ‘ﬂ"aﬁ:gao

If the arithmetic mean of the first » natural numbers 1s 191, then the sum of the digits
in n 1s

D0EE 11 DI VoL oS G0 191 wad n 85° @05 ddo

Options :
12
1.v
1
2. %
10
3. %
9
4, %

Question Number : 193 Question Id : 5494705268 Display Question Number : Yes Is Question Mandatory : No Calculator : None
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Statistical Ability  teros Svmgﬁo

The median of the following data is:
Sod ST RS Eiuc;’:rér'iejo

X 5—10 [ 10=15 |15-=20 |(20-25> |25-30
i 7 10 16 12 3
Options :
16.35
1. %
17.50
2.9
18.21
3. %
19.30
4, %
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Statistical Ability  Heos bv.;fugqso

If the mode and the median of a data are 75 and 69 respectively, then the mean of the

data 1s

2.8 BTo%o AINE), LFTV¥E0, BT ST 75, 69 LoD & STroT IS 03§00

Options :

74
1. %

71
2. %

68
3. %

66
4.
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Statistical Ability  (icPo% Sva‘)Jan

The standard deviation of the natural numbers
101.103.105.....1971s

NP2 oD 101 . 103 105 . ... .197 & god0e&e

Options :

1. ®

3.¢

Question Number : 196 Question Id : 5494705271 Display Question Number : Yes Is Question Mandatory : No Calculator : None
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Statistical Ability g0 ,ﬁvmgﬁo

If x1.x2...., x20 are observations i a data whose mean is 4 and variance 1s 9, then
20

in(xi +1) =

i=1

2,8 BT o%0 ° HOFVDED Y1. X2...., X200 © G0 4 BATL DB 9 ad
20

in(xi +1) =

i=1

Options :

180

280
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Statistical Ability  Heos bvmgéo

When 3 fair dice are thrown at random. the probability of getting different numbers on
them 1s
3 AryE8 FASVR D EorT DDBE TG DR DVoad(en T-HL=IS Doz

Options :
30
31
1. #
5
9
2.9
4
3. % 9
6
31
4, %

Question Number : 198 Question Id : 5494705273 Display Question Number : Yes Is Question Mandatory : No Calculator : None
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Statistical Ability  fgPos JesG 0

@

If a fair coin 1s tossed six times, the probability of getting exactly 4 consecutive heads

15

2.8 ﬁa"u}és a“ﬁ“.:};l 6 &g:: DED, Sri}aejorr 4 g5° ;ﬁ%w SHEIDT ;ﬁrﬁa ‘rbcar.:ﬁée:&

Options :
5
64
1. ¢
5
32
2. %
15
64
3. ®
15
32
4, ®

Question Number : 199 Question Id

: 5494705274 Display Question Number : Yes Is Question Mandatory : No Calculator : None
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Statistical Ability  (iceog bvmgﬁo

If 3 boys and 4 girls sit in a row at random, then the probability that all boys sit together
18
3 DD erend, 4 M erdsen w8 DS QI sy SorT Srdonod, erentone gD 28

e 88\ GottrS (o SEE S

Options :
?
1. ®
i
7
2. ®
2
3. % !
|
7

4. &
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Statistical Ability  ¢igros .3".;11850

If two cards are drawn at random from a well shuffled pack of 52 cards, then the
probability that both are not spade cards 15
et SODD 28 DE A O S Aol CIrEGI\SoT Totdd LD B (Dothtetd), e

Ootsr "a;-iabe.n Q008) &0 ST &ol :aoa:“;ﬁ}gé

Options :
16
17
1. %
19
54
2. &
16

-
B

d



19
34



